
E2.2-E4.2-E6.2

SACE Emax 2

Terminali anteriori F - E2.2-E4.2-E6.2
Front terminals F - E2.2-E4.2-E6.2
Vorderseitige Anschlüsse F - E2.2-E4.2-E6.2
Prises avant F - E2.2-E4.2-E6.2
Terminales anteriores F - E2.2-E4.2-E6.2

Doc. N.° 1SDH001000R0803 - ECN000126299  - Rev. D

1

2
OK

OK

1

2              



SACE Emax 2 | ABB

A

B

C

E

D

F

G

H

III IV III IV (FS)

F

3 4

3 4 1(0)

3(4)3

A B C

ED

F G H

M N

O

Q

R

E6.2E4.2E2.2

III IV

3 4

3 4 6 7(8)

I NJ

MI

NJ

3 4

3 4 1(0)

3(4)3

3 4

3 4 6 7(8)

O Q R

K

L

K

L

M

N

** FOR UPPER TERMINALS KIT ONLY

1 1 2 1(0)

1 1 1(2)

6 7(8)

56(64)483224

3224

3

3

4

4

3 4 6 7(8)

3 4 3 4

**

**

**

**

**

** **

** **

**

W

- - - -

- -

- - -

- -

- -

- - - -

- -

- - - -

- - - -

-

- -

- - - -

- -

- - - -

- - - -

M6x18

M4x8

3 4 6 7(8)

M8x18

Øint8 M8x40



SACE Emax 2 | ABB

1 Example for E2.2 F 2000/2500 A III - UPPER AND LOWER TERMINALS KIT

A

Non serrare
Do not tighten
Nicht festziehen
Ne serrez pas
No apriete

O



SACE Emax 2 | ABB

2 Example for E6.2 F 5000/6300 A IV - UPPER AND LOWER TERMINALS KIT

C
N

Non serrare
Do not tighten
Nicht festziehen
Ne serrez pas
No apriete



SACE Emax 2 | ABB

3 Example for E2.2 F 2000/2500 A III -  - CROSSBEAM MOUNTING

Q
R

2

2

2

2

2

2

1

1
K

K

Non serrare
Do not tighten
Nicht festziehen
Ne serrez pas
No apriete



SACE Emax 2 | ABB

4 Example for E2.2 F 2000/2500 A III - FASTENING INSTRUCTIONS

Serrare
Tighten
Anziehen
Serrer
Apriete

1

Serrare
Tighten
Anziehen
Serrer
Apriete

2

8.6 Nm

76 lb in

20 Nm

177 lb in



SACE Emax 2 | ABB

5 Example for E6.2 F 5000/6300 A IV - CROSSBEAM ASSEMBLING

LL

L1 L2 L3N

KK

L1 L2 L3

L K

L1 L2 L3N

1

1

1

1

K

L

L

K

Q
R

2

2

2

2

2

2

2

2

2

2

Non serrare
Do not tighten
Nicht festziehen
Ne serrez pas
No apriete

E6.2 III

E6.2 IV

E6.2 IV FS



SACE Emax 2 | ABB

6 Example for E6.2 F 5000/6300 A IV - FASTENING INSTRUCTIONS

Serrare
Tighten
Anziehen
Serrer
Apriete

1

20 Nm

177 lb in

Serrare
Tighten
Anziehen
Serrer
Apriete

2

20 Nm

177 lb in



7

8

Example for E2.2 F 2000/2500 A III - TERMINALS PROTECTION ASSEMBLING

SACE Emax 2 | ABB

Example for E6.2 F 5000/6300 A IV - TERMINALS PROTECTION ASSEMBLING

M

D

1

2

E

1

2

M

1.2 Nm
10.6 lb in

1.2 Nm
10.6 lb in



9 Example for E4.2 W 3200/4000 A III IEC - UPPER AND LOWER TERMINALS KIT

SACE Emax 2 | ABB

Non serrare
Do not tighten
Nicht festziehen
Ne serrez pas
No apriete

G

N



10 Example for  E4.2 W 3200/4000 A III IEC - CROSSBEAM ASSEMBLING

SACE Emax 2 | ABB

1

1
K

K

Q
R

2

2

2

2

2

2

Non serrare
Do not tighten
Nicht festziehen
Ne serrez pas
No apriete

FOR: 
E2.2 W
E4.2 W
E6.2 W

FOR: 
E2.2 W
E4.2 W
E6.2 W



11 Example for E4.2 W 3200/4000 A III IEC - FASTENING INSTRUCTIONS

SACE Emax 2 | ABB

Serrare
Tighten
Anziehen
Serrer
Apriete

2

20 Nm

177 lb in

Serrare
Tighten
Anziehen
Serrer
Apriete

1

20 Nm

177 lb in



12 Example for E2.2 W 1600/2000 A III UL - UPPER AND LOWER TERMINALS KIT

SACE Emax 2 | ABB

8.6 Nm

76 lb in

O

F

E2.2 W 1600/2000 A UL ONLY

K

L



13 Example for E4.2 W 2500/3200 A III UL - UPPER AND LOWER TERMINALS KIT

SACE Emax 2 | ABB

G

N

20 Nm

177 lb in



14 Example for E4.2 W 2500/3200 A III UL - CROSSBEAM ASSEMBLING

SACE Emax 2 | ABB

1

1

K

K

Q
R

2

2

2

2

2

2

Non serrare
Do not tighten
Nicht festziehen
Ne serrez pas
No apriete

FOR: 
E4.2 W UL
E6.2 W UL

FOR: 
E4.2 W UL
E6.2 W UL



15 Example for E4.2 W 2500/3200 A III UL - FASTENING INSTRUCTIONS

SACE Emax 2 | ABB

Serrare
Tighten
Anziehen
Serrer
Apriete

2

20 Nm

177 lb in

Serrare
Tighten
Anziehen
Serrer
Apriete

1

20 Nm

177 lb in



16 Example for E4.2 W 3200/4000 A III IEC - TERMINALS PROTECTION ASSEMBLING

17 Example for E2.2 W 1600/2000 A III UL - TERMINALS PROTECTION ASSEMBLING

J
1

M

SACE Emax 2 | ABB

M

2

I
1

2

1.2 Nm

1.2 Nm



18 Example for E4.2 W 2500/3200 A III UL - TERMINALS PROTECTION ASSEMBLING

© Copyright 2014-2020 ABB. All rights reserved. 
www.abb.com

For more information please contact:

ABB S.p.A.
Via Pescaria, 5
24123 Bergamo - Italy
Phone: +39 035 395 111

1

M

2

J

FOR: 
E4.2 W UL
E6.2 W UL

1.2 Nm


	Pagina 1
	Pagina 2
	Pagina 3
	Pagina 4
	Pagina 5
	Pagina 6
	Pagina 7
	Pagina 8
	Pagina 9
	Pagina 10
	Pagina 11
	Pagina 12
	Pagina 13
	Pagina 14
	Pagina 15
	Pagina 16
	Pagina 17
	Pagina 18

